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108% = B 01433 {5 H 75 2001 55. 4 45
107TH = HENFEY) 01409 B34 2001 55. 2 46
108% = B 01432 R EE 2001 47.9 47
10720 HNFEY 01402 Wi 2001 R
107#0= HRNEY) 01405 HKAH 2001 R
108# = FLEY 01422 R 2001 e
108% = HEE 01423 A8 2001 e
108% %= FtEY 01428 REH 2001 B
108% = FLEY 01438 A% 1% 2001 s
108# = FLEY 01443 B 2001 i
108% = FLEY 01446 B X 2001 s
108# = FLEY 01447 KGN 2001 i
108% = FLEY 01450 ST 2001 e
108# = FLEY 01455 KM 2001 i
108% = FLEY 01456 ZER 2001 s
108% = FLEY 01465 A% 2003 73.9 1
108% = HLE 01479 ERAE 2003 69. 4 2
108# = FLEY 01468 Xita 2003 69. 3 3
108% = By 01488 5K ik 2 2003 68. 4 4
108# = FLEY 01484 X1J el 2003 67. 1 5
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108# = FLEY 01458 TR Ik 2003 66. 4 6
108% = HLE 01466 oy 2003 64.9 7
108# = FLEY 01489 EISES 2003 64.3 8
108% = B 01480 AN 2003 63.7 9
108# = FLEY 01459 a7 2003 63 10
108% = B 01472 e B 2003 63 10
108# = FLEY 01460 JE 3 2003 62.9 12
108% = B 01467 I 2003 60. 4 13
108# = FLEY 01477 A 2003 60. 2 14
108% = FLEY 01474 SR 2003 59.5 15
108# = FLEY 01463 ok 280 2003 59. 3 16
108% = HLE 01471 use 2003 58. 7 17
108# = FLEY 01462 2= 2003 57.4 18
108% = FLEY 01457 FRE 2003 56. 9 19
108# = FLEY 01476 R 2003 56. 9 19
108% = B 01483 TR 2003 56. 9 19
108# = FLEY 01464 IR 2003 56. 7 22
108% = FLEY 01461 MRa% (2003) 2003 55. 7 23
108# = FLEY 01470 HE 2003 54.6 24
108% = FLEY 01487 S 2003 53.1 25
108# = FLEY 01469 FBIHA 2003 i
108% = FLEY 01473 R 2003 s
108% %= FtEY 01475 PIREE 2003 R
108% = FLEY 01478 I 2003 s
108# = FLEY 01481 =SR2 2003 i
108 = HEE 01482 BT A 2003 R
108# = FLEY 01485 XA 2003 i
108% = HEE 01486 o 2003 e
1098 = HINEY 01504 BObC ek 2009 74.2 1
109% = HI\FEY 01532 PEE s 2009 74.1 2
1098 = HINEY 01534 5 2009 70.9 3
109% = HI\FEY 01492 g7 2009 70. 6 4
1098 = HINEY 01537 2= U2 fd 2009 69. 9 5
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109# = HINEY 01546 5K i 19 2009 69. 1 6
109% = 5HI\FEY 01499 XI| 4 2009 68. 7 7
109# = HINEY 01535 EEN 2009 68. 6 8
109% = 5I\FEY 01503 iy e 2009 68. 2 9
109# = HINEY 01544 R 2009 67.7 10
109% = 5I\FEY 01557 KA 2009 66. 9 11
1098 = HINEY 01514 TR 2009 66. 1 12
109% = 5I\FEY 01530 AT 2009 66 13
1098 = HINEY 01549 3l 2009 65. 6 14
109% %= FI\FEY 01498 i 2009 65. 5 15
1098 = HINEY 01522 Y % 2 2009 65. 3 16
109% = 5I\FEY 01505 W 2009 64. 9 17
1098 = HINEY 01552 W) 2009 64. 9 17
201 = FIFEY 01566 (S a 2009 64. 5 19
1098 = HINEY 01521 R R 2009 64. 4 20
109% %= FI\FEY 01551 fa Hk 2009 64. 4 20
1098 = HINEY 01495 T AS R 2009 64. 2 22
109% = #HI\FEY 01491 G 2009 64. 1 23
1098 = HINEY 01526 X 2009 64 24
109% %= FI\FEY 01533 F 3 2009 63. 7 25
1098 = HINEY 01493 LINCPN 2009 63. 1 26
201 = #I\FE 01560 2l 2009 63 27
1098 = HINEY 01543 Wi ¥ 2009 62.9 28
109% = HI\FEY 01550 R 2009 62. 7 29
1098 = HINEY 01528 MW 2 2009 61.9 30
109% = HI\FEY 01496 IR 2009 61.7 31
108# = FLEY 01490 A H 2009 61.6 32
109% %= FI\EY 01540 BikH 2009 61.5 33
1098 = HINEY 01511 Te&E 2009 61.4 34
109% %= FI\EY 01542 T 2009 60. 7 35
1098 = HINEY 01501 S 2009 60. 3 36
201 = FIFEY 01563 AR 2009 59. 7 37
1098 = HINEY 01523 JtaE 2009 59. 6 38
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109# = HINEY 01548 1 feiy 2009 59.5 39
109% = 5HI\FEY 01555 A 2009 59. 3 40
2010 BILEY 01567 F R 2009 59. 2 41
109% %= FI\FEY 01517 Fiz 2009 59. 1 42
109# = HINEY 01516 T 2009 58. 8 43
109% = 5I\FEY 01494 Wit 2009 58. 7 44
1098 = HINEY 01519 s 2009 58. 1 45
109% = 5I\FEY 01513 R 2009 58 46
1098 = HINEY 01529 XSCER 2009 57.5 47
109% %= FI\FEY 01524 25 I 2009 57. 4 48
1098 = HINEY 01515 B3 2009 57.3 49
109% %= FI\FEY 01507 FiH 2009 56. 9 50
201 BIEY 01562 K 2009 56.9 50
109% = 5I\FEY 01558 Tk g 2009 56. 3 52
1098 = HINEY 01500 TR BV 2009 56. 2 53
109% %= FI\FEY 01518 TR ER 2009 55. 8 54
1098 = HINEY 01545 e 2009 55. 8 54
109% %= FI\FEY 01510 FEF 2009 55. 7 56
1098 = HINEY 01502 FEA L 2009 55.6 57
109% %= FI\FEY 01541 fa 2009 55. 6 57
2010 BIEY 01561 e 2009 54. 3 59
109% = #I\FE 01525 W% 2009 52. 2 60
1098 = HINEY 01512 PR 2009 50 61
109% %= FI\EY 01508 F 5 2009 49.8 62
1098 = HINEY 01497 X 2009 i
109 = HI\EY 01506 B3 2009 R
1092 %= FI\EY 01509 FHFE 2009 R
109% %= FI\EY 01520 XA 2009 s
1098 = HINEY 01527 FEAR 2009 i
109 %= HI\FEY 01531 Wi 2009 R
1098 = HINEY 01536 Y 2009 TR
109 %= HINEY 01538 FRHERE 2009 R
1098 = HINEY 01539 5 2009 e
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109# = HINEY 01547 FEH Gl 2009 i
109 %= HI\EY 01553 ] e A 2009 R
1092 %= FI\EY 01554 XI5 2009 R
109 = HI\EY 01556 L 2009 R
109# = HINEY 01559 ikT (2009) 2009 i
201 = FIFEY 01564 LA 2009 s
2010 FIEY 01565 T 2009 e
201 = FIFEY 01568 ik 2009 s
201 FIEY 01593 T REFR 2010 73.5 1
201 = FIFEY 01605 Sl 2010 72.3 2
201 FIEY 01597 2w 2010 72. 1 3
201 = FIFEY 01592 X1 2010 70. 1 4
201 FIEY 01588 LIF7IR N 2010 70 5
201 = FIFEY 01578 W= 2010 69. 7 6
2018 = FINEY 01599 MR 2010 69 7
201 = FIFEY 01581 ool 2010 68. 7 8
2010 FIEY 01570 iNE7d 2010 68. 6 9
201 = FIFEY 01602 o 2010 68. 6 9
2010 FIEY 01577 BOSGH 2010 68 11
201 = FIFEY 01583 Bl 2010 67.8 12
2010 FIEY 01580 Legk 2010 67.7 13
201 = FIFEY 01594 5K Ja 2010 67.7 13
2010 FIEY 01601 W vt 2010 66. 3 15
201 = FLEY 01582 eSS 2010 65. 1 16
2010 FIEY 01600 FEAER 2010 65 17
201 = FIFEY 01587 XA 2010 64. 8 18
2010 FIEY 01569 5K 5 St 2010 64. 4 19
201 = FIFEY 01574 i 2010 63. 7 20
2018 = BIEY 01584 240 2010 62. 7 21
201 = FIFEY 01591 JE 37 2010 62. 5 22
2010 FIEY 01571 e 2010 61.8 23
201 = FIFEY 01579 AR 2010 61.5 24
2010 FIEY 01572 MRk 2010 61.4 25
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2010 FIEY 01576 i 2010 60. 1 26
201 = FIFEY 01575 J Bg s 2010 59. 7 27
2010 FIEY 01590 2 i 2010 59.3 28
201 = FIFEY 01585 KAk 2010 59. 2 29
2010 FIEY 01586 (NS 2010 58. 7 30
201 = FIFEY 01589 AT 2010 58. 4 31
2010 FIEY 01573 E1:372 2010 57.9 32
201 = FIFEY 01596 HET- 2010 57.5 33
201 FIEY 01598 K 2010 57.4 34
201 = FIFEY 01604 IEES 2010 51. 4 35
201 FIEY 01595 Bl 2010 TR
201 %% FNEY 01603 X644 2010 R
201 FIEY 01606 i 2010 i
201 = FIFEY 01607 A 2010 e
201 = FIFEY 01627 5K 2012 71.6 1
201 = FIFEY 01609 BI5 797 2012 70 2
202 % FtEY 01632 A 2012 69. 8 3
201 = FIFEY 01629 Z N 2012 69. 7 4
2010 FIEY 01626 i 2012 69. 3 5
201 = FIFEY 01619 ZEINIA 2012 69. 1 6
2010 FIEY 01624 ¥ B B 2012 68. 2 7
201 = FIFEY 01610 KA 2012 67. 2 8
202 % FtEY 01631 A 2012 67. 2 8
201 = FIFEY 01621 T 2012 66. 6 10
202 % FtEY 01636 M= 2012 66. 4 11
201 = FIFEY 01630 2 ¥ 2012 66. 3 12
2010 FIEY 01617 Wy 2012 66. 2 13
202 = B+ 01633 L H 2012 65. 7 14
2010 FIEY 01622 MR 2012 65.5 15
201 = FIFEY 01614 XI] 5 2012 65. 4 16
2010 FIEY 01620 AR - 2012 65. 4 16
201 = FIFEY 01616 TN B 2012 65. 3 18
2010 FIEY 01612 &S 2012 64. 7 19
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2010 BILEY 01625 R FE 2012 64.3 20
201 = FLEY 01618 ] 2012 64. 1 21
2010 BILEY 01611 M (2012) 2012 63.6 22
202 = F+%Y 01634 ERE =3 2012 63. 4 23
2010 BILEY 01608 P 2012 61.3 24
201 = FIFEY 01623 WXk 2012 60. 9 25
202 % BTEY 01635 ffR TN 2012 56.7 26
201 %% FINEY 01613 B ERE 2012 R
201 BIEY 01615 FhAE 2012 e
201 %% FIFEY 01628 B4 2012 R
202 % BTEY 01637 =i 2012 i
202 = F+%Y 01644 ZRRE 2013 70.5 1
202 % BTEY 01646 ETN 2013 66. 2 2
202 = B+ 01639 HER 2013 65. 5 3
202 % BTEY 01638 YRR 2013 62. 7 4
202 = %Y 01641 F A (2013) 2013 59. 8 5
202 % BTEY 01642 HH R 2013 59.5 6
202 = F+%Y 01640 IAES 2013 54. 2 7
202 % BTEY 01643 X1 2013 i
202 = %Y 01645 x|l 2013 s
202 % BTEY 01647 grer 2013 i
202 = B+ 01651 A=Y 2014 67.7 1
202 % BTEY 01649 T A (2014) 2014 67.3 2
202 = B+ 01652 =52 2014 66. 6 3
202 % BTEY 01653 B ER X 2014 66. 3 4
202 = F+E 01655 SRE 2014 66. 3 4
202 % BTEY 01650 B 2014 62.9 6
202 = B+ 01657 BB 2014 61.1 7
2028 = F+EY 01648 CAILR 2014 59. 4
202 = F+%Y 01658 WEF = 2014 56. 4 9
202 % BTEY 01654 FKRH 2014 e
202 = %Y 01656 FAM 2014 e
202 % BTEY 01659 K SCTE 2014 i
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2028 = FtEY 01660 TRAR A 2014 R
2028 % B+ 01661 Zs 2014 e
202 % FtEY 01662 K BH 2014 i

%21 0, k21 |




